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4 JIE2 8= 12,350 0 12,350
OSEAHISTAIY QdEI=E
12,350,000 12,350
Jl 3,705
Al 8,645




SH: AYED
S Jazzae| MA =g
el SYALSTAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEAL ST (SL S AA) 132,351 205,180 AT2,829
Jl 39,705
Al 92,646
201 er2 3| 12,991 20,300 AT7,309
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640,000 640
) 192
Al 448
SEAL ST (FLE2HALE) 15,161 23,690 A\8B,529
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SEAL ST (HE0RI0ISEIAIY) 56,000 70,000 14,000
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202 04| 3,240 4,320 1,080
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OXSAEHS A (AD) wHbI
2,000,000 2,000
OFS X=X At 43,520 56,000 112,480
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— & HEE 116,860,0002 0. 87% 1,028

Oosgdd=sHy JIZtZ22 A 04|

120,00024 3+ 122 4,320
= 2,160
= 648




2A:

JES&

2
dad2el HAH =E

3 HdAHI
Celr S XJ At (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,512
OSSALSZHE JIZH2ZT &5
105,900 =12 x302! x365/365 3,177
= 1,270
= 378
Al 1,529
OSEALSSHH JIZtM22 X E&S(Al
HIZ=0t) 6,3%4
—SSA 105, 9002+ 12 x302!+365/365 3,177
= 1,270
S 377
Al 1,530
—2EXTA
105, 9002+ 12 x3024 +365/365 3,177
= 1,270
[ 378
Al 1,529
OSEHLSSHH JIZMZ22X B4
all 143
—Z2tS A 108,000 1 108
— A 35,0002 1 35
201 Ler23 | 21,960 34,968 A13,008
= 9,600
s 2,880
Al 9,480
01 AtR2tc|bI 19,200 30,000 10,800
OSgHL =AY 2|
19,200,000 19,200
= 9,600
=S 2,880
Al 6,720
2 35244l 2,760 4,968 A2,208
O382= € HA 130,000& «12& 1,560
Oxtgr= Al 600,000 600
OZHLI1DIs Xl 50,0002 128 600
203 =8| 1,250 1,750 A500
03 A=A PR FZ| 1,250 1,750 A500
OXSAIE SBEE Qx|
1,250,000& 1,250
301 LEIE NS 3,309 6,560 A3,251
14 JIEt2 8= 3,309 6,560 A3,251
O7 &t MblA HIS 2AH 3,309
— Xl Zt2J A 1,619,000& 1,619
— X Dt AL 1,690,000& 1,690
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SN ABHDY
B MR M 2
Celr S XJ At (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 30,330 57,590 A27,260
= 1,000
T 300
Al 29,030
01 22 & 3=H| 30,330 57,590 A27,260
ORUE 2 HEIA M2 A2EH|
2,000,000& 2,000
= 1,000
& 300
Al 700
OSgHAd=38 Uat &2 2ZHl K& 28,330
—94=2dE 2zl 6,144,000& 6,144
—9E22tS 2l=H| 22,186,000 22,186
HE SHAHIA XI& 40 1,000 A960
225t 0| #=st JIIEXA ABlA 40 1,000 2960
AITHOL o1&t B8 XI& 40 1,000 2960
301 LPENZ 40 1,000 A960
02 MBI EZAGS(HUAS, XLTHA) 40 1,000 A960
OAITHOE Ol& AlA0H B2 XIJ
20,000 =23 40
MY 2IHH(AZST) 1,608,610 1,660,412 A51,802
= 49,000
| 124,540
& 8,500
Al 1,426,570
oI 2I| 1,553,493 1,591,847 A38,354
= 49,000
| 124,540
T 8,500
Al 1,371,453
ol 23| 893,051 880,566 12,485
101 2124l 811,587 799,953 11,634
02 JIEtX 24 36,627 35,556 1,071
OAIZPEEHIAD M =422+ 36,627
—5=2(012)
15,059 * 1 +28A| 2t 123 5,060
—8=2(2t=2) 10,4163 x 128 A| 2++6H 1,750
—9=2(0t=2) 29,817,000 29,817
03 SRH(RINHL) 222 774,960 764,397 10,563
OB TS ALY SRE 4| 46,151
=Jlez(17a8)
2,958, 102 x1H+12& 35,499
—IIE=4 140,000 x1H +12& 1,680
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=M AUB
B WEHSHAH|(AAZT L)
Chel: ol CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—fEg2f=E 50,0002 x 18 x 122 600
—AZ2t2R4E 1,204,000& 1,204
—gAZAHI 140,000 x1&* 122 1,680
-2
2,958, 1902 x 1 %23 *60% 3,550
—St2 & 133,760 x 12 *10 1,338
—AAxg 50,0002 x1& 122 600
OEAHNZAIE S22 21| 93,921
—-JlEs(1683)
2,930,740 x2E « 12 70,338
—JIExg 140,000 x2& » 122 3,360
—fg2F+E 50,0002 x2& =123 1,200
—A222RE 4,776,000& 4,776
—ZHZAHI 140,000& x2&* 123 3,360
—SE230Hl
2,930, 7403 x2H %25 60% 7,034
—St2 &I 132,640 x2&» 10! 2,653
— A= 50,0008 x2& * 122 1,200
OFZEHAY SFH 12| 68,651
—Jl22(1653)
2,930, 7403 1.5« 128 52,754
—JIE2E 140,000 +1.58* 122 2,520
—fE2RrY 50,0002 *1.5 =122 900
—A2228H 1,791,000& 1,791
— gl 140,0002%1.5F 12 2,520
—SEFHI
2,930,740 1.5 22| x60f% 5,276
—GIH2 4| 132,640 %1.58 %10 1,990
— =g 50,0003 x1.5F 128 900
OFZ2HA S22 X832
69,000,000 69,000
O100MAZ 22| AIY SRE Q124H| 497,237
—J28(1783)
2,958, 1902 %10.5 122 372,732
—ItE=E 140,00021%10.5E8 «12& 17,640
—AZ2t2 25 31,148,000 31,148
— NI 140,000 %10.5%+ 122 17,640
—SEFOHI
2,958, 1902 +10.52& +23|+60% 37,274
— Q2 & 131,840 x11E 10 14,503
—AAxg 50,0002 #10.5 122 6,300
M HA=FESS 81,464 80,613 851
04 SR (RIH )22 BEE=RES S 81,464 80,613 851
OB (I|H) 22X 2HERES S 81.464




=M AUB
M HZYRAZH(AZSI 1)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—=8le= 731,707,000 *4 . 5% 32,927
—2ZEE 731,707 ,000& *3.545% 25,940
—LOIIIQAEH
25,940,000 *12.95% 3,360
—1E2E 731,707,000 %1.75% 12,805
— & HEE 731,707 ,000&+0.87% 6,432
SEAHISTAIY 23| 105,116 256,080 150,964
) 31,535
Al 73,581
101 21A4H| 94,587 230,435 135,848
Il 28,376
Al 66,211
03 SR (RIH )22+ 94,587 230,435 135,848
OAUZUSATAY SFH 1A 94,587
—J=20783)
2,958, 1913 2H« 1228 70,997
Jl 28,376
Al 42,621
—ItEsE 140,000 x2&* 122 3,360
—AZtel2Rsy
24, 7203 x2H*10A1 2+ 123 5,933
— NGl 140,000 x2& * 12 3,360
—EE230Hl
2,958, 1912 x2&+23| *60% 7,100
— G2 4| 131,8403 x2&* 10 2,637
—HA==g 50,000 x2&* 122 1,200
04 HSRESS 10,529 25,645 15,116
Il 3,159
Al 7,370
04 SR (RIHA)22N BEE=RES S 10,529 25,645 15,116
OSEHYSINY 575 28 F8= 10,529
—=td= 94,587,0002 *4. 5% 4,257
Il 1,277
Al 2,980
—IES 94,587,000 *3.545% 3,3%4
Jl 1,006
Al 2,348
Lo RYEE 430,000 430
) 129
Al 301
—1E2E 94,587,000 *1.75% 1,656
Jl 497
Al 1,159
— & HEE 94,587,000 *0.87%% 832
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=M AUB
M HZYRAZH(AZSI 1)
chol: ol (19 @)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
7l 250
Al 582
SXUEAMY EXQIH| 177,203 200,955 N23,752
Jl 17,000
< 8,500
Al 151,703
101 @124H| 158,817 180,829 N22,012
Il 17,000
== 8,500
Al 133,317
03 SRA(FIH )22 U2+ 158,817 180,829 N22,012
ORTEAAY SFH 12| 34,000
—Jl22(1553) 34,000,000& 34,000
Jl 17,000
== 8,500
Al 8,500
OZREAAY S2A IAHI(AIHIFIH 124,817
—JI22(1583) 86,739,000& 86,739
—ItEsE 140,000 +3.5&* 122 5,880
—A2t 22+
24,2002 +3. 5 *5A| 2+ 123 5,101
—gAZAHI 140,000 +3.5%* 122 5,880
—E230Hl
2,903, 2903 #4 & x22| «60fk 13,936
—CItE &I 129,520 x4&»10! 5,181
—HA==g 50,0002 +3.5F12& 2,100
04 HSRESS 18,386 20,126 A1,740
04 R (RIHA)22N BEESRES S 18,386 20,126 1,740
ORNEAHANY S2H EEeR5s 18,386
—=glo= 165,118,0002 *4. 5% 7,431
—JdAEE 165,118,000 *3. 545% 5,8%4
—LoEIQAEH
5,854,000 *12.95% 759
—NEEE 165,118,000 *1.75% 2,890
—&HEE 165,118,0002 %0.87% 1,452
NEAISHSHXAAMEIA IHZ2SH| 151,309 152,024 AT15
Il 52,153
Al 99,156
101 e124d| 136,149 136,799 AB50
Jl 52,153
Al 83,99
03 SR (RINHA) 222+ 136,149 136,79 2650
O2¢i22|d SR A 104,306




A ALSED
S HY2IAH|(AHLSE
s lIEE2ghl EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—Jl2z(1658) 104,306,000& 104,306
| 52,153
Al 52,153
o= ECIEIE-CERIETINEES 31,843
—Jl1=22(1622) 1,201,002 1,201
—Jl=4y 14000021532 * 128 5,040
—AlZtelag
24,1503 +3H 15 A 2h+4 3 4,347
—dAZAlH| 140,000 *3F 122 5,040
—HEFIHI
2,930, 7403 *3E x23| x60% 10,551
— I &M 128,800 *3Z 10 3,864
NSRS 50,0002 3+ 12& 1,800
M HAFRE3S 15,160 15,225 AB5
M SRHE(PINHS) 22X BE28€2 S 15,160 15,225 AB5
O=¢Zcld 324 28283 15,160
—=00132 136, 149,000 *4. 5% 6,127
—H2AEH 136, 149, 000& *3.545% 4,827
— LI Qo
4,827,000 x12.95% 626
-85 136, 149,000 *1.75% 2,383
—MTHEE 136, 149,000& *0.87%% 1,197
SEAHASIAIY JLEHA =2 S| 79,504 102,222 A22,718
| 23,852
Al 55,652
101 2124 d| 71,090 91,984 A20,8%4
| 21,327
Al 49,763
03 SRH(RINHS) 22X 2+ 71,090 91,984 A20,8%4
OgLSdHA MY S22 21| 71,090
—J|23(1883)
2,985,6402x1.5% 128 53,742
| 16,123
Al 37,619
—IEY 140,000&4 1.5 =128 2,520
| 756
Al 1,764
— A2t 2R+
24,9503 *1. 5H+5A| 2H+12F 2,246
| 674
Al 1,572
—HHZAlH| 140,000 1.5 =128 2,520
| 756
Al 1,764
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=M AUB
M HZYRAZH(AZSI 1)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—EEOM
2,985,640 x2&H %25 60% 7,166
Jl 2,180
Al 5,016
—CItE &I 133,040 %1.58 %10 1,99
Il 599
Al 1,397
—HA==g 50,0002 x1.5F*12& 900
Il 269
Al 631
M HA=FESS 8,414 10,238 A1,824
) 2,525
Al 5,889
M SRA(RIAHL) 22X BEERE=3 S 8,414 10,238 A1,824
OSYSHANE SRE EEERES 8,414
—=0l= 75,581,000 *4. 5% 3,402
7l 1,021
Al 2,381
—AIEE 75,581,000& *3.545% 2,680
Jl 804
Al 1,876
—LOIFIIQAEH 344,000 344
Il 103
Al 241
—1EEE 75,581,000 *1.75% 1,323
Il 397
Al 926
—&HEE 75,581,000& *0.87% 665
Jl 200
Al 465
ZoH AZEH2ALCIAMG IHE2S| 147,310 0 147,310
= 49,000
Al 98,310
101 @124H| 132,551 0 132,551
= 49,000
Al 83,551
03 SR (RINHA) 222+ 132,551 0 132,551
OMEAE 24 el 98,000
—JlEs(1bs3) 98,000,000 98,000
= 49,000
Al 49,000
OMAtE S22 IAHI(AIHIZ=I1) 34,551
-5 4,859,000 4,859
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SN AUSTY
M HZYRAZH(AZSI 1)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—fg22+E 50,0002 x38 * 12 1,800
—AN22Z2RE 6.,656,000& 6,656
—gAZAHI 140,000 x3& * 122 5,040
— S HEM
2,903, 2002 x3& *23| *60% 10,452
—SotE 4] 131,440 +38*10 3,944
—AAxg 50,0002 x3& 122 1,800
4 HASFEESS 14,759 14,759
M SRA(RIHL) 22X BEERE=3 S 14,759 14,759
ONEAMY S2H 288 RE= 14,759
—=0l= 132,551,000 4. 5% 5,965
—2IEE 132,551,000 +3.545% 4,699
— oI Ry
4,699,000& *12.95% 609
—1I=E2E 132,551,000 *1.75% 2,320
— & HEE 132,551,000 +0.87%% 1,166
=34 85,117 68,565 A13,448
Jl=3H] 85,117 68,565 13,448
201 er23 | 30,685 30,897 N212
01 At2teltl 22,464 19,008 3,45
ORANEgII123H 22,464
—2Bt=Shl 40,0002 ~26E *122+0.8 9,984
—=4l 50,0003 x26H 123 +0.8 12,480
2 S52g4l 8,221 11,889 A3,668
OoRERs 8,221
—gged 4302 *15,000A 6,450
—S)IfH 2,530 »70021 1,771
202 04| 18,720 32,244 A13,524
01 2K 18,720 32,244 A13,524
OgRFZ|=0|
120,000 x26E *122+0.5 18,720
203 HR=&H] 5,712 5,424 288
M EA2ER=AH 5,712 5,424 288
ORNEgE =AY
(400,0002 45,0002 *39H )+ 122+0.8 5,712
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